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Get a fidget spinner!  Spin it. I needed to spin time(s) to finish.

Find the GCF using the Birthday Cake method.

3 27 18

3 9 6
3 2

GCF: 3 x 3 = 9

3 48 66

2 16 22

GCF:

3 165 150

GCF:

4 88 80

GCF:

6 66 48

GCF:

24 36

GCF:

36 40

GCF:

10 18

GCF:

10 26

GCF:

22 10

GCF:

48 30

GCF:
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Spin again. I needed to spin time(s) to finish.

Find the GCF using the Birthday Cake method.

2 144 162 108

3 72 81 54

3 24 27 18
8 9 6

GCF: 2 x 3 x 3 = 18

2 72 36 48

6 36 18 24

GCF:

2 24 22 14

GCF:

4 28 48 32

GCF:

78 114 84

GCF:

52 76 56

GCF:
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Which of the following has the smallest 
value?

A) 0.16

B) 0.6100

C) A and B are equal.

19 - 7 = 

A) 19

B) 44

C) 12

D) A and B are equal.

Which of the following numbers will have a 
remainder when it is divided by 11?

A) 49

B) 44

C) 66

D) 55

8.3 - 1.5 = 

A) 5.8

B) 6.7

C) 6.8

D) A and B are equal.

9 x 69 = 

A) 664

B) 127

C) 2,652

D) 621

36 inches is

A) more than 3 yards

B) equal to 5 feet

C) equal to 1 yard

D) equal to 4 feet
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At 8:00 a.m. Mr. 
Hernandez started 
packing quarts of milk in 
crates. By 9:00 a.m., he 
had packed 78 quarts. 
He took a break from 
9:00 a.m. to 9:30 a.m. 
From 9:30 a.m. to 10:30 
a.m., he packed 79 
quarts. How many 
quarts of milk did he 
pack from 8:00 a.m. to 
10:30 a.m.?

Mr. Taylor made a pot of 

tea at his restaurant. The 

pot holds 15 servings of tea. 

If each serving is 3 2
3

 oz, 

how many ounces of tea 

does the pot hold?

Connor knows that his 
teacher loves birds. He 
is building a birdhouse 
for her for Teacher 
Appreciation Week. He 
started working on the 
birdhouse at 2:37 p.m. 
Saturday afternoon. He 
worked until it was all 
finished at 4:03 p.m. that 
evening. How long did 
Connor work on the 
birdhouse?

David invented a robotic bug.  The bug 
can crawl six centimeters in twenty-two 
seconds.  How long would it take the bug 
to crawl forty-eight centimeters?

2 9 0
+ 2 0 1

72 ÷ 12 = 

How many grams are in 8 kilograms?

 grams

Anna is getting messy.  She has made a 
4' x 2' x 3' cube made out of clay blocks.  
She wants her art project to have at 
least a surface area of 30 square feet.  
Does she need to add more clay?

word root se can mean apart secret, sequester

3 1
+ 2 5

Insert commas in the correct places in 
this sentence.
This year in music we studied 
Mozart Beethoven Haydn and 
Tchaikovsky.
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6 6 9
- 3 5 9

5 0
- 1 9

Can 232 be evenly divided by 3? Circle:
232 is evenly divisible by 3
232 is NOT evenly divisible by 3

Maria invented a robot.  The robot's 
name is Jack.  Jack can go a maximum 
speed of 3 mph.  At that rate, how long 
would it take Jack to go 10 miles?

List three of the smallest whole numbers 
that are greater than 21, are multiples of 
4, and are not multiples of 8.

1 km = 1,000 m

18 km = m
8 x 4 = 

Amanda will win if a random 
number pulled out of a box is a 
number divisible by 4.  21 pieces of 
paper, numbered 47 to 67, are 
put inside a box.  What is the 
chance that Amanda will win?15 cm = mm

132 ÷ 12 = 
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Circle the smallest number:
8,258 1,095,823,674
90,546,137 41,936,270,980

12 x 3 = 

For 157,050,278, write the digit 
that is in the ten thousands 
place.

Sara wrote down a fraction on a 
piece of paper.  If you take her 
fraction and multiply it by eight 
you get twelve.  Can you guess 
what her fraction is?

Write a letter that has two or 
more lines of symmetry. 24 ÷ 3 = 

In the number 1,092,365,364, the digit 0 is in 
what place?

Emily multiplied two one-digit 
numbers and then added 196.  
The result was 310.  Wendy does 
not believe her and thinks Emily 
made a mistake.  Who is correct?

The principal of your school wants to buy fifty-three 
books.  Each book costs $2.96.  She wants to 
estimate how much it will cost.  Show her how you 
would estimate the cost:

8 x 7 = 

Write this as a number in standard form.  
Use a comma in your number.

seven hundred five thousand four 
hundred twenty-nine
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5 5 3 x 6 1 0 0 9 0 3 ÷ 6 3 ÷ 9
= 7 4 =

Use the pieces above to help you fill in the runaway math puzzle.

(5 + 8) + 7 = 
Circle the addition property 
for 58 + 124 = 124 + 58.

associative property
commutative property

2

1 ÷ 5 = 1

5 x 7 = 3 1 3

9 1 9 x 6 = 5 4 6

2 8 = 1 0 2 x ÷

x 9 = 9 4

0 ÷ 6 = 1 2 x = 0 = =

= 8 3 x 3 =

0 x 1 1 = 6

9 ÷

÷ 2 9

4 8 8 = 6

= ÷ 0 3

÷

= 7

2 0 ÷ 5 =

9

https://www.mathworksheets.com


Name:
Week of February 21
MathWorksheets.com

Kyle, Rebecca, Christina, Makayla, Tyler, and Samuel are 34, 28, 10, 40, 17, and 30 years old.

Find each person's age.

1. Samuel is older than Rebecca.

2. Christina is less than forty years old.

3. Tyler is less than twenty-eight years old.

4. Makayla is older than Kyle.

5. Samuel is younger than Makayla.

6. Samuel is older than ten years old.

7. Rebecca is less than thirty years old.

8. Samuel is older than Tyler and younger than Kyle.

9. Tyler is older than ten years old.

10. Tyler is younger than Rebecca and older than Christina.

11. Kyle is older than thirty years old.

Kyle is  years old.

Rebecca is  years old.

Christina is  years old.

Makayla is  years old.

Tyler is  years old.

Samuel is  years old.

What time is 14 hours after 
3:00 a.m.?

Put these adjectives in the correct order.
four red large
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6 3 2 6 32 7 6 8 72 6 4 8 16 1 3 2

20 4 0 0 12 5 7 6 12 3 6 0 9 1 8 4

12 2 2 1 21 4 2 28 2 0 1 6 5 1 6 3

39 + n = 55 It was 4 degrees above 
zero in the morning.  By 
afternoon the temperature 
rose 25 degrees.  How 
warm was it?

What 3 coins add up to 15 
cents?

A rectangle is 48 cm on 
one side and 15 cm on 
another side.  What is the 
perimeter?

It was 9 degrees below 
zero in the morning.  By 
afternoon the temperature 
rose 17 degrees.  How 
warm was it?

30 ÷ 5 - 1
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Show how you would use pennies, nickels, 
dimes, or quarters to make the amount 
shown. Try to use the fewest number of 
coins.
 
a. $0.12
 
 
 
b. $0.35
 
 
 
c. $1.55

List all the numbers from 3 to 60 which are:
 
a. multiples of 10
 
 
 
 
 
 
 
 
b. multiples of 10 but not of 5

a. What whole number when doubled is 43 
less than when it is tripled?
 
 
 
 
 
 
 
 
 
b. What whole number when multiplied by 6 
is 234 less than when multiplied by 19?

Find two consecutive numbers that have a 
sum of 189.

 
 
 
 
 
Find three consecutive numbers that have a 
sum of 114.
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14 1
3

4 2
3

+

6

2 1
3

+

3 1
2 6 1

6

+
6 5

7 9 2
7

+

6 8
9 9 1

3

+

16 1
6

9 1
2

+

7 1
3

5 5
6

+
4 1

2 6 1
2

+
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18 is to 36

as 12 is to 

as  is to 6

as 1
3  is to 

as  is to 1.

Reduce 6
12

 to its lowest 

terms.

15  +  3
4

 + 6
11

 = 17  -  4
5

 + 6
11

 =

(12 - 11) + 7 How many centimeters in 
470.9 meters?

What is 50% of 1,168?

In each pair, circle the word that is 
spelled correctly.
drank, dranke
funral, funeral
gees, geese
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Words can be to the RIGHT, DOWN, LEFT, or UP.  Every letter is used ONCE.
H T I E S E O L A F F U B

E A O S L W O R H T R E V O S
C T L S D O T H E S E N U T I
U C E T D R M A D L U R E T
T H R A I P R O T R A C T O R
T E A H M R U L E N O I S I V
E T N I N T R O D U C T I O N
L S T B E N C H L I B E R T YWrite the words found.

LIBERTY INTRODUCTION

Circle the greatest number:
5,901,427

349,256,179
3,608

76,129,058,438

David invented a robotic bug.  The bug 
can crawl six centimeters in twenty-two 
seconds.  How long would it take the bug 
to crawl forty-five centimeters?

Write the missing family fact.

24 x 7 = 168
7 x 24 = 168
168 ÷ 24 = 7

Can 962 be evenly divided by 10? Circle:
962 is NOT evenly divisible by 10
962 is evenly divisible by 10

word root extro can mean outside of extroversion, extrovert
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